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Swrrose CULOG) +had L\() s
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U) UU":'(:’] l’\() 'S an incrusinj Lunchon o

o Jecre.asirﬁ Function.
(2) Write "Hnt Inverse ‘Elnc.‘h‘au 'az L\-‘(u‘)

(> Find the derivatve —::-3— of  Hus
-cunc:ﬁov\. N

(9 The He densihy of U= kL(Y) is:
_ d -
JQu (») = -(-\7 (3) \—ﬁ-\, f\u331n5 n
W' (W for 4 -

E%&“?\C—L L&"" \, be a standard Q)lrone.w‘HQ.I v,

e f, (4)= %6'3 € 4>0
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Find the P«l-p of U= \Y .
-Fiest note  h(y)=\y s

- T\r\?. nwvesse 'Cuan.ﬁon 1S

Inverse

)




Pl‘obk\)‘l \\+'! In"'e.&ra.‘ T"OU\S‘CDr maton

E)&a.m?\e. Z: Sur?ose F('a) 'S 'H\e. t_Jcp op a
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Example 35 [e¥ Z ~ N(O,D. Frnd He Pel-('
of U= 2%
Problew!  W(2)=2* is not monstone on (-oo, ) |

Pl‘ c:hM’?. :
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Solution: Efeﬂ-k Surrorﬂf o"r Z ll-r mt Fwo ]’"3&51 ‘H\C-VL
use treansfor mathon hehnitu& on each one.

On A = (-®,0) L() is
On A,= [0, @), n() is
On A,
On A,

- To 32:\' He rﬂu of u, we MAQ_ He terms
waﬁmﬁ ‘F”OM each P.IQ.C.C., Al and Aa_,




E)(awrle o i Let \/ ~ Um.p (- -F{) -1%3 Find the
pAf of U= tan (V).
-Note l«(-a) = tan(y) 'S

'TL\C Inverse 'Cu.nc.'\'iov\ \S

- This s caled a standard Ca\ucki distribution.
- FQC:\? ; I—F u (3 o Cauc‘rxy I".V., "H'\QV\
Sw[ul-Pu(u\ du is not finite. Hence E ( bl)

does not exisT.

Plot of Cauc_ky FO\‘F:
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-Now we COnS}oler o Livqri-\:}z ﬁan'Cormd'l‘Dﬂ
of join“'l\/ conhnuous r.wv.'s Y, and \{z_ Let

W, = h, (7‘)\12,)
U, = \'l,_ (\‘f\)\{,_)
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Inverse ‘Gamc.'h'ons ‘3' = L:'(u.)u,,) q.no‘ 'é,,:l'\:(“‘)q‘).
Tt ﬁv‘,v,(‘a-,‘ab is He Joint P‘l‘c -+ (1, 1),
Hew the Jeint FA-C of (ll.)u,_) 1S
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Nete: We wust pay aftechon do what +he
S“T\w\"\' of He wew rv's (u.,u..) ul\l Lt'
'I—'F we want +Le m&rjfb\m( C'llS"T;L“:h.on a-C u.

or of Us, we can gimpl mtesrate +he
_'\o‘m“' J;S‘\'ri\:w'h‘on: ry J

£, ) =

or

“Cu,_ (u,) =
Example 1: Suppose M, and Yo are ruwl's with
joint ""«““Jr‘/L 3_56,'(‘3‘*3’) ¥ 4.0, 4,%0
_(:Yt)"z- e o elsewhere
F\'vx& 'HnL joivd’ CIQMSH"[ °'c ul: Y1+Y2. “"\J
U, = 1, ;
5

SO‘Vt -Car n verse ‘cn\c,'l"l.onﬁ



Note: CJ«.V\ SLow -H,\g_ mq_rsv:r\q...l Je.ns;',‘y 0'(:
u‘z,:' My 'S le-(: (0,\) ) Ir\"'eﬂr‘n}e out u‘:

\"1"'\’1.-

Exercise: Show gwu‘ éu‘clu. = r(?') S l

(0]
\LS;'% Fro‘ae,r"'i?-S o‘c Sounna. rcl'c ovr in‘l'eﬁra:h'Ou L‘f Pq.r‘f'i.

== ‘Fuz (.u'a-\ =

C,om.\us;on‘. I'c \f‘, \'2_ are inelt_remle.vd' S‘l‘!tnﬁlq.ra(
exPo&’“—h‘L‘ r.\l_'S, Hhen 'S S"‘q.mlqnl U.m“Pbrm.

.+ Y,



EXG.MP‘C. 2." \/ou iual&rualen.'l'l" cl\oose ‘we va.lu.es
a_‘\' rknclowx LL‘\"U&K O mul l . Ul\g,'l' 3 ‘H\c_
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I"c Y] e ll\f'\.l'p (0) l) ) Y-,_ et ul\l'p (O) |) OU'\J

Y| )Y-,, |‘n¢le.‘>e.mle,u.+ ) -H\e..n

£, ,1.,,(‘&')'3’) -

Te 'CH\J. ‘\'LE_ Ole—'lsi'l"', o'c U, = \,|+Y1., we wu'“:
@ Idu‘\'\p\’ an aw.xn'lary variahle u, =

@ Fiy\.l ‘e joird‘ ‘:J-F O'c (u.,l.l-..,).

@ Iw\'e%m:l'e out W, o 3e:\' mqrj:m,l P“ ot U .



= The sum of Fwo ir\ole_r. un;'p(O,l) rv.'s has
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